SHE6EE 108 HBRAER RIV—ILAX(FTHE)

T FEE R R FRITEF k=
10818 |X 17:40
108 28|XK 17:40 kR EmLRE~168
10A3H|XK 17:00 SBEDaARYIY
10848 |& 13:15 [—&F T+ A]
10858 |t SR N =
10868 |8 SR N =
108788 17:40
10888 | X 17:40
10898 |XK 17:40
108108 | K 14:45 [—&T#A8]
108118 |€ 17:40
108128 |+ ERH
108138 |8 ER B
108148|A| REKR—YDH
108158 | X 17:40 ERER
108168 | K 16:45 WREERYN—HYIL FE[-FTH&A]
108178 | & 16:45 BESR FH[—FTH&A]
108188 |2 17:40 B AEDEER - EMESS
108198 |+ ERE
108208 | H ERHE
108218 | B 17:40 [ZAREEIRER]IERES
108228 | X 14:45 1ETT49 2L XHHED
108238 |7k 1550 1ETYFAvL 1B L XBHEQD - B £ H RS 23FFHHY
108248 |k 17:45 1ET) T4y 1)L XTFHER
108250 | & 14:25 BE= [—&TF#A8]
108268 |+ ER B
108278 |8 ER B
10A28H | A 16:45 =FERHED
10H298 | 13:00 NERAREGEBRDNER) [—&TF#H]
10A308 | A 16:45 =FBHO
108318 | X 14:45 =FHEHKO




